Similarity — Paper 2 — Mark Scheme

Question 1
12
9 9.6 cao Ml —=— oe
10
Question 2
. 6
19 (@) |75 M1 tm[lo]xg oe
(b) 12 cao M1 for 9x§ oeor 9x 10
6 their (a)
Question 3
7 Parallel 1
Same length 1
Question 4
20 (a) 35 M1 for [Z=] 180 — 88 — 57 or VWX'= 57
or YZX =135
. AC 126
10.8 M1 for —=——o0¢
®) 72 84
Question 5
5 9.1 0e M1 for £=ﬁoe
PQ 217
Question 6
7 (a) 74
(b) 8.69
Question 7
19 2.88 M1 40° oe seen A1 2 880 000
B1ft their 2 880 000 + 100°
or B1 0.000045 M1 40° Al cao
or M10.4° M145x 04> Al
Question 8
11 500 M1 ¥V = kL’ any letters may be used for ¥, k and L
Alk=4
Question 9

17 (a) 4.5(0)

(b) 200

M1 0.5° or 2° seen

Question 10

8 13500 408

M1 135 x 10% or 408000 + 10° oe Al Al




Question 11

15 | 30000 M2 for 7500 x 200%/100%0e
or M1 for 200° seen
Question 12
12 12 by 30 by 42 B1 for 10 x 25 x 35 or 8750
3 /15120
M1 8750 (=1.2)
Question 13
0.05 .
9 40.3 or 40.31 to 40.32 3 M2 for 4.4><31|| 65 soil
or M1 for %f% S0l or %}i soi
65 0.05
Question 14
11 150 3 M1 for m’ to em’ or cm® to m®
Question 15
6 6 3 M2 for 3x 3[288”
36m
or M1 for 3>(3\/28&rr or 3x3\/ 36x
36 2887
Question 16
18 576 4 | Mifor G or 335
M1 dep for their fraction
M1 for (their cube root )’
Question 17
8 48 M1 for 15%or (1) or _L
15 157
1
or +10800 or
/10800
Question 18
18 576 4 | Mifor 35 or 345
M1 dep for 3their fraction
M1 for (their cube root )
Question 19
9 03 M1 for kaDOOUxSUODOGE
100000 x100000
If zero scored SC1 for figs 3




Question 20

21 (a) 12 2 |M1 for 2=£ oe or better eg 7,2x%
X
(b) 12.8 3 |M2for l-ﬁx-“ll92 oe
V375
or
faoe 3
leur-TE or-‘E oe or|l0 =3£ oe
V375 192 y) T192
Question 21
14 6 M2 for 4.5x 3|@ oe or better
\ 54
3
Mlﬁ:lr3g or 3ﬁ {:u.:orﬁzE oe
\ 54 128 128 ( x
Question 22
. 1.6x20000°
10 64000 3 | M2for 22 oe
00
or
M1 for figs 64 in answer or 1ecm” =40000m’
Question 23
7 460 B1 for 1 em” : 100 km” oe
or M1 for 4.6 x 1000000* + 100000? oe seen
Question 24
21 (a) 5 M1 for %:“4'3 0
2592
(b) 24 M2 for 13’ x 20 oe
1500
or M1 for ,—"’@ or 3’@
1500 2592
Question 25
16 6.35 or 6.349 o 6.350 3 MITUTE_'EUI:
35 ar b o 6. P 0.8
F 1|-:‘
or M1 for B | L8 o8
Vi) 025
|| 0.5 0.25
or for { or O
0.25 0.5




Question 26

10 46.3 or 46.29 to 46.30 M2 for 53x 1‘;% o
or M1 for .,‘fﬁ or | 30 or E] E or
30 20 | X 20
hetter
Question 27
11 80 2 2 2 32 122
M1 for (—2] or (1) oeor —=—— 0e
3 12
Question 28
20 60

M2 for 4x 3,’4015200 oe

or M1 for (4 12

]
— | =— o0&
! } 40500
,[40500 12

12

or

e or

0oc

40500




